
Similarity between images

Definition:

Example:
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Another commonly used matrix norm
Definition: (Frobenius norm)

Remark: In image processing ,
Vector norm can be considered as
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Importance of defining correct norm



Representation of        by a matrixO H : Let g = Off ) E Mnxn , CIRI
.
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So
,

CA ) can be written  in matrix form :
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-

- Hf ( HE Mcvicar I Rt )

H is called the transformation matrix representing O
.



fit £12 fig ← Row -3
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All entries are given by the point spread function
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Example Consider O : MNXN 11127 → Mnxn ( IR) defined by :
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Remark :  o Separable image transformation has a special structure .
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